
	Clarity for Learning 

	[bookmark: _gjdgxs]Standard KY.1.OA.1 Use addition and subtraction within 20 to solve word problems involving situations of adding to, taking from, putting together, taking apart and comparing, with unknowns in all positions. 

	Concepts (Nouns)
addition word problems within 20
subtraction word problems within 20
unknowns
all positions
	Skills (Verbs)
add to
take from
put together
take apart
compare

	Learning Progressions
Prerequisite Skills:
· [bookmark: _dafp8l3jcwuf]Structure to 5
· [bookmark: _p70fwvie1139]Combine and partition within 10
· [bookmark: _2m9i47tbk6ut]Add and subtract within 20 with materials
· [bookmark: _hyaabq7hdsii]Solve addition and subtraction word problems within 10

Grade Level Skills:
· Solve all types of word problems within 20 using hands-on materials (counters, bead-strings, blocks, etc.) to represent the problem.
· Solve all types of word problems within 20 using drawings,  number lines, hundreds boards, etc. to represent the problem.  
· Solve all types of word problems within 20 using equations with unknowns to represent the problem.
· [bookmark: _gjdgxs]Solve word problems involving situations of adding to, taking from, putting together, taking apart and comparing, with unknowns in all positions.
See Table 1 Appendix A below.

Clarifications:
· Students flexibly model or represent addition and subtraction situations or context problems (involving sums and differences up to 20). See Table 1 in Appendix  below:
[image: ]
· Note: Drawings need not show detail, but accurately represent the quantities involved in the task. 

KY.K.OA.2→ KY.1.OA.1→KY.2.OA.1
KY.1.OA.1→KY.1.MD.4

	Learning Intentions (I am learning to...)
	Success Criteria (I know I’m successful when...)

	Solve word problems.





	· I can determine when I need to add or subtract to solve a word problem.  
· I can model the story and solve a problem situation  up to 20 verbally or with materials.
· I can model the story and solve a problem situation up to 20 by drawing or writing an equation to represent the situation.



image1.png
Common Addition and Subtraction Situations®

Result Unknown Change Unknown Start Unknown
Two bunnies sat on the grass. Three | Two bunnies were stting on the grass. Some more | Some bunnies were sitting on the grass. Three
more bunnies hopped there. How | bunnies hopped there. Then there were five more bunnies hopped there. Then there were five

AddTo | many bunnies are on the grass now? | bunnies. How many bunnies hopped over tothe | bunnies. How many bunnies were on the grass
first two? before?
24327 242=5 24325
Five apples were on the table. 1ate | Five apples were on the table. | ate some apples. | Some apples were on the table. | ate two apples.
Take | two apples. How many applesare on | Then there were three apples. How many apples | Then there were three apples. How many apples
From | the table now? did1eat? were on the table before?
5-2=7 5-2-3 2-2-3
Total Unknown ‘Addend Unknown Both Addends Unknown®
Three red apples and two green Five apples are on the table. Three are red and the _| Grandma has five flowers. How many can she put
Put | apples are on the table. Howmany | rest are green. How many apples are green? inher red vase and how many in her blue vase?
Together/ | apples are on the table?
Take 3+ 3+7=5,5-3=7 5204552540
Apart® 5-144,524+1
5-243,523+2
Difference Unknown. Bigger Unknown Smaller Unknown
("How many more?” version): (Version with “more”): [Version with "more”):
Lucy has two apples. Julie has five | Julie has three more apples than Lucy. Lucy has two | Julie has three more apples than Lucy. Julie has
apples. How many more apples does | apples. How many apples does Julie have? five apples. How many apples does Lucy have?
Lucy have than lulie? (Version with “fewer”): (Version with “fewer’):

Compare® | (“How many fewer?” version): | Lucy has three fewer apples than Julie. Lucy has | Lucy has three fewer apples than Julie. Jule has
Lucy has two apples. Julie has five | two apples. How many apples does Julie have? | five apples. How many apples does Lucy have?
apples. How many fewer apples does
Lucy have than lulie?

247=55-2=7 243-2,34222 5-322,243=5
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